
Center gear shaft /
Axe central /
Centrale as /
Welle
T54.503

2-speed Clutch cam
Support de came
T54.506

1St Spur Gear Holder (One-Way)
Support de la 1ère couronne
T54.504

1St Spur Gear 49T
1ère couronne 49D
T54.511

Alum. Nut
Ecrou alum.
Alum. moer
Alum. Mutter
T54.507

 Push bearing into the gear holder.

8x12mm Flange Ballbearing
Roulement à fl asque
Kogellager met zijkant
Kugellager mit Flanke
T54.509

8x12mm Flange Ballbearing
Roulement à fl asque
Kogellager met zijkant
Kugellager mit Flanke
T54.509

2nd Spur Gear Holder (Ballbearing type)
Support de la 2ème couronne sur roulement
2de steun voor het tandwiel kogelgelagerd
Zweiter Stutze (Kugellager) für das Zahnrad
T54.505

18mm Circlips
Circlips
Clips
Clips
T54.508

2nd Spur gear 45T
2ème couronne 45D
2de tandwiel 45T
Zweiter Zahnrad 45Z
T54.512

Adjustment Hole
Orifi ce de réglage
Regelgaatje
Loch zum Reglieren

Note the direction.
If the Cam Holder is installed around the wrong way, 
the transmission won’t shift and you will hear a clicking 
sound when driving.
Respectez le sens de rotation.
Si la pièce est installée dans le mauvais sens, la trans-
mission ne se fera pas et vous entendrez des “CLICS” 
quand vous roulerez.

ATTENTION

8x10x3mm Alum. Ring
Entretoise en aluminium
Aluminium ring
Alum. Ringe
T54.509

Use the ballbearings 
delivered with your car.

Anti-Clockwise
Anti-horaire
Tegenwijzerszin
Gegen den Uhrzeigersinn

Indique que c’est un 
écrou à pas inversé.

Déjà assemblé

Poussez fermement et horizontalement
Druk stevig aan houdt het tandwiel horizontaal.
Hard andrucken, Zahnrad horizontal halten.

7x19x5mm Ballbearing
Roulement
Kogellager 
Kugellager
T54.064

5x5mm Set screw /
Vis allen /
Stelschroef /
Gewindestift

Center Diff. support
Support Diff. central
Hoofdtandwielsteun
Haupt Zahnradstutze
T54.033

5x5mm Set screw /
Vis allen /
Stelschroef /
Gewindestift

Brake Joint
T54.028

Brake Joint
T54.028

2-Speed Gear Box2-Speed Gear Box T54.500



Use the parts that come with your car
Utilisez les pièces livrées dans le kit

Gebruik de delen uit de kit
Gebrauch mitgelieferte Teilen

2nd Clutch 
Gear 18T
T54.524

Clutch Bell (for 2 speed)
T54.501

1nd Clutch 
Gear 14T
T54.519

5x8x2,5mm 
Ballbearing
T58.043

5x8x0,8mm 
Washer

5x8x0,3mm 
Washer

3x8x0,5mm 
Washer

3x5mm 
Screw

Dust Cover
T54.514

3x8x0,5mm 
Washer

FOR SG PILOT SHAFT

FOR NORMAL PILOT SHAFT

ADJUSTING THE SHIFT POINT
Adjust the engine before adjusting the clutch shift timing

Once the engine adjustment have been completed, proceed to adjustment of the clutch 
shift timing.
(using a 2mm allen wrench to adjustment the clutch cam.)

   NOTE: Clockwise ------- Shift timing will become slower.
               Anticlockwise--- Shift timing will become quicker.

• Adjust the clutch shift timing for your track conditions with 4x4mm set screw. 

• As you tighten (clockwise) the 4x4mm set screw, the shift timing will become slower.

• As you loosen (anticlockwise) the 4x4mm set screw, the shift timing will become quicker.

• Set the shift timing to the track conditions while the car is running.

S
hort Track

Torq
ue

Long Track

Top
 S

p
eed

SPUR   CLUTCH GEAR
GEAR  (4 tooth difference)

49T/45T      14T/18T     15T/19T     16T/20T

48T/44T

47T/44T

2 SPEED GEAR RATIO COMBINATIONS
Important:
The Sum of the spur gear and the clutch gear for 1st gear must be 
equal to the Sum of the spur gear and the clutch gear for 2nd gear.
Example:    1st gear 45+13=58
                   2nd gear 41+17=58

R e f .  n r .       D e  s c r i p  t i o n

T54.518             Spur gear         44T 2nd      gear
T54.512             Spur gear         45T 2nd      gear
T54.517             Spur gear         46T 2nd      gear  
T54.516             Spur gear         47T 1st       gear 
T54.515             Spur gear          48T 1st       gear
T54.511             Spur gear         49T 1st       gear 
T54.519             Clutch gear      14T 1st       gear 
T54.520             Clutch gear       15T 1st       gear 
T54.521             Clutch gear       16T 1st       gear 
T54.522             Clutch gear      17T 1st       gear
T54.523             Clutch gear      17T 2nd      gear
T54.524             Clutch gear      18T 2nd      gear
T54.525             Clutch gear      19T 2nd      gear
T54.526             Clutch gear      20T 2nd      gear
T54.527             Clutch gear      21T 2nd      gear 

3x10 mm Tapping screw
Vis
Zelftapschroef
Blechschrauben

Plastic bushing /
Entretoise plastique /
Plastieke tussenlegschijf /
Plastik Unterlegscheibe

3x12 mm Screw
Vis
Schroef
Schrauben

3x3 mm Set screw /
Vis allen /
Stelschroef /
Gewindestift

0,5 mm

Brake pads /
Plaquette de frein /
Metalen remschoen /
Bremsbacken aus Metal
T55.006

Brake pads packing /
Garniture de frein /
Remschoen Férodo /
Bremsbacken Férodo
T55.007

Brake disk /
Disque de frein /
Remschijven /
Bremsscheiben
T55.005

Allen wrench 2 mm /
Clé Allen /
Imbussleutel /
Sechskantstiftschlüssel

Clockwise (tighten) /
Sens horaire (serrer) /
Wijzerszin (vast) /
Uhrziegersinn (fest)

Anti-clockwise (loosen) /
Sens anti-horaire (déser-
rer) /
Tegenwijzerszin (los) /
Gegen den Uhrziegersinn 
(Luchs)

Brake Cam /
Came de frein /
Remexcenter /
T54.034

Brake Lever /
Levier de frein /
Remstang /
T55.047

2-Speed Gear Box2-Speed Gear Box T54.500

Adjust throught this hole.
Ajustez par cet orifi ce.
Aanpassing doen in dit gaatje.
Enderen in diesen Loch.

Notice the movement of the clutch cam.
Notez le mouvement de la came.
Let op de beweging van de koppe-
lingklok.
Geben Sie Acht auf die Bewegung des 
Kupplungbacken.


